
Munich Personal RePEc Archive

Competiveness and Human Resource

Development

Deolalikar, Anil and Hasan, Rana and Khan, Haider and

Quibria, M.G.

Asian Development Bank

1997

Online at https://mpra.ub.uni-muenchen.de/2819/

MPRA Paper No. 2819, posted 19 Apr 2007 UTC



���������	��
	�����
����������������������	���������������������	������������	�������	�	��	�	�����	������������	�����

����������	���������
�������������� ����������������	��������
�����!	�
���	�����"�	�����	���������������	��	�

���� ���	�� ������
����� !	�
� #��������� ��� $�
���� %�&�� '��(��	� ��� ���� 	�����	��� ������ ���������� ��� ���� ��������

��	������	�������	�����������������������	��������
�����!	�
��$����
	
��� ���	���)����������� �����
���	����	
����

*+�
��	�����	������	������������,�-�����	

�	�������������������	�
��
�������
���������

��������	�
��
������	����������./������0��

��.1.2.31 4�.556����	��������
�����!	�


�����������	�

��	
�����	

��
���������������	�

�	��
��
���������	��
	���
	�	��	�	����	�������	��

	��������������	

��
������������� ������� ��� �� ��
���� ��� ����� ������ � ���
���� �	��� ���� 
���� �����

�� ���������������� �
��������!�������� ��	���������!������
��������� ����	�
��
����

"������� ���
��
�
�������������������!����������������	�������� ���� �������������
��

��� �� ������ ���
���� ��� �� ���!�� "���� �������!� ��
���� ������  ��������� � ���	�� �����

������� �������� 
����#�������	�� 
����� ������� ��� ���� ������ ���� ������� �$�����
�

������������������ ���!���������������%���	���������� ������������� ������������������

��
��������� �� ��

������������!�����
������
����������������������������&����������

��	�
��
����� ��� ����� ������ ������� ����� 
��!� ��� ����� ����'�� �����
!� �������

� ���
���� ��	�� ����� �����$����� ���������� ��� ������� ��� ������ ���� �� ���
��� �


 �����
��!� �
���� ������ ����
��� "��� ������ ����������� ��� ��� � ������ ��� ��� �� ��
��

������ ����	�
��
������
���������� �����	�
������������������������ ��������������

��
� ��������	�� �
�����
�

�	���
�����	

�����
�������	��	���)
����������	�����������������	������	�����������

�	���17���	����������������
���������	��	����������	�������	���������-���

������� ��� ���� -����� 	��� ������� ���� ��������� �	
� -���� ���� ��������	�

����������.������(��	���������	������	�������������������	�	������	�����2

�	�����������������������	�������������-�-������������������	���������	�����	����

$����� �	������� ��� -����� ������ ��� -���� ����������� �������� ��	(��� �	�����������

����������������������������������������������������������
.
!��-����.53/�	���.557�����������������
�������8&�+9�������	����-�(��	��	���	���	���	���	������1�:�
��2

�����
���
����������
	����-���� ���� ��������	�����������;�	���	���	���	�����-����	������0�6�
�������
���
�������$��

��-�����������	��<�������������8=#��9����-�������	������	��	��	������3�6�
�������
���
������8���	��������
�����!	�


.5569�

�



.10�� ��������	�
��
������	���


��������� �
������� ��� ��	���� ����� �	����� �	����� �����	���� ������ �����������	�� ��	��2

-��
�������������	����	�����	����	���	(���������	
������	�	��������������-���������

	��� ��� ������
�������	� ��	��� ������ ��	�	������������ ���� �	��� 	��� ��� ������
�������	

(����
	�������������	�����	������������	����	�����	���	������	��	��(�����#����������

���	�����	������(�
	����������
	����������	�������	�����������	�	�������+����

�����

��-��������������	�����	����������	�������������������������������.557����������	�

���������� �	��� ������	
��� ��������	��� �������� ��� ������ 
������ ��	��-��
�� 	��� �	��

���������������������	�������������-����$���+����

������	��	�����	�����������	��

��
�����������������
������	��������������	����	��-��
��-������	��(����	����
	����

(�����	������
���������������
������	�����$������	����������������-	����	�
��2

(	����� ���-	��2��������� ��������� 
�������� ����������� ������
���� ���	� ��� ���� �	��

��-���	����	��(�������	�
	(���

=����������������
������
�������������
��������	������������������	���������	;�

����2
����������������������������(���	�����	�����������	������������������������

���-���	��	����������� ���������������	���	�� ���������$��������(��������� ����� �������

��������� ��������	��
��(����� �����	�� �����������	�� ��	������� ��� ���� ���	���	�� ������� 	��

-�	
������� ��� ���� �������� ��� ���
��	��� ������	����� #�� ��� (�������� ��	�� ����� �����

�������(����� ���(����	���-���>	��������-��������(��	���	�������?���
� �	�
>���-��

-�����������

��-������������	����������	������
��������*���	���,����-����	�����	��	

�	�

��������������������#��
	������	����	
��������	���
�����	�����������������	���	
	(���2

������	��(�� �����	���(�������������	�������� ����������-����$�	�� ����� ��� ���� 	�����

���������	��
����(������ ��� ����������(�� �����	���
��������� ��� ���� ���	���	��������@� ���

�)
�����������	��������.553���	��	���	(���-	�������������������������������������8���	�

������
�����!	�
�.55:9��%���������	���������	���������)
������	��-�����	���(���

������	��� ���� �)	�
���� �	����� (�� ���� ��-������ ��� ���	��� ���� ����������� 
��������

!��� 	������-��������
����(������� 	�� ��	��� ���� ����������	������	�� �������� ��� ��	�� ���

�	�
����	��	��?�	�����

������-���2��	�������������	���������������	�����������������2

���	���������	(�����������������������������������������
���	����(��2������
��	�����

����������2(�����
�	�������-	�������������	���������
����
����������������	���������2


���������������-��2-	������������������	������+��
��;����
�(������� ���	�8+� 9

	���A����=	��

B������������������	��	�������������������	������	������	��(����	����������	�

����� 	��� �	��� 	

��	������ ���� ���� ��� ���-��� 	��	��	(��� �������� ��
�����(���<	����

8"����	��.55C9��B������� 	������	�����������-���-����� ��?����� �����������	��
���2

�����	��	��	(�������������-������	��������	������������	���
������	��������-�������

���	���	
��	���-��������	(������������������������

$������������������	����	������������������	���?�	�������#���������������������

���	�����	���D����������������	��-�����������?�����������(�������������
����������
	2


�������	�������������������������������������	�
�����������	�����������������
����

���	�������
��-������	����
������$����
���
������������
���	����(��	���������	����������



(�
������	����������%�
��������� ����	�
��
����������� ��� .11

����?�	�����������	������������ ��� ���������
��
��;��
��-������	����
����� ��	�����2

�������������(	���������	��������-�����������������	�����	���(������$�����������������	�

��������	��� ��� ���� ���������� ��� 
����������� ���
������������� 	��� �����������	�� 	��

�	�	����	�� �����	������� #�� ���	����	���������	������-������� 	� ���������	��������


��������������	����������������	���������������������
��������	�������

$����������������-�
�	������
����������	��
�	����	�������	����������������������

��	������	��������������
�������	��#�����������������	��������
�	���������	

�������

���-����)
����������������)2�������������������������	��<����	�������������������	2

�����	������������	��	����������	���	��-���������� ����
��(��������������������-���

+�������� 	��� ������������� �	����� 	� ���	�� ��	��� ��� %��
���� ����������� 	��� A�����

8.55.9��	���
������������ �	�����	�������	�����	�����	-�� ��-	��������
�������	��	�2

���������-����
��������	��� �������������	���-�
��
��� ������	��<�� ������-�����	���	��

���	���������
�������� �����������-����
��������	����������������������	�������2���
���

	����������������	�������	�������	����	�����	-������������&�����������������-	������2

��������� ��� 
�������� 	��� �����������	�� ��	��-��
� �������� ������	� 8	� ������ ��	�� ��

���(��-����(���	�������(����������������	���	���������	���
������ ���
��������������

���������9�����?�	������������-��
������-�����	�����������������������������������
��2

����	����	����������������������������������

$��������	���������	����-������������������������������������	������������-���

(��������	�������������
���
��������������������	�������	�-	���(��������������
	�����$���

��	������������������	�������	�
������	���(��������<�8.56/9�	(���������	�����������	2

����������	�����-��������?����(��	>�����	���������������������������>	���-�������

���	����� ��� 	��	��	�� �����)�������������� ��� ������<�� ��� 	�� ������������-����� 	���2

������	�� 
�	������� -���� �����������	���� ��	��	���� �	�����;� ����	����� -����� ���� ��

����� ��� ��������� �	������
�������������-������-�����)
����� ��� ��-� ������������

	���
�	�������� ��� ��� ��������	���� �	������-����	�� ��	���	��� ������-� ����������� ����


���������������	����������������������$����
�����	

������?�	����-��������������������

��������������������������	���	��������	�������������#��	�����	
������	��	����������

�������������)��	(����������������(	��<	������&��(	��<	������	�������	��������������

���-�������������
������������
��������������������������	������������<;���	��������

�������-��������	����-���	������	�
������������	������������������������������������

��-������������

$������	��������������
	
���������	��<���	�������-���B����������	
������	�������

���	�������
�(��-����������������������	������������	���������������-����=�)�����

������(��� (��	�� ������� ��� �	������ ����������� ��� ���	�� ���������� 	�� ����� ���	��� ��


��-������	����
���������������	������������(��������������������������������	���	�

��	�������������)����������	;������������������������	������������	������������������	�

�	
	(��������� $��� ���	�� ��������� ������(�� (��	�� ���	������� ���� ������
���� ���	�� ��2

��������	��������������	���	
	(���������$��������	�������	����������������������������2

	(����	��	�������	���)�����	��������	��������
��������������8����9����������������

���������
���������	�������������	��������������	���	
	(��������



.1C�� ��������	�
��
������	���

�����������	����������	���
���������������	�����������

#�� ������ ��� ��
����� ���� ��	��	��� ��� �������� 	�� ������������� 
������� ���	���

	����������������	��� ��������� 
���-��
���� #�� ������-������ �������� ������� ��	�� ���


������������ ��� ����-��
���� �����	����� $�����	�� (�� 	�������� (�� �?��

����-��
���

-��������� ������� ��	�� ���� ���������� ���
�����	�� �	
��	��� (����	��	����(��	��������(�

���������������
����	
��	�������
���������?�	�����������	�������������#���	����	����	�2

����(	��������� ��� 	������	����� ��� 
�����	�� �	
��	��-���� ����� ���� ����� �����������

��������8"����	��.55C9��B���	���
�	����	��
��
����������������������������	��
�������

��	���	��	���-�����	��������-���������
���
���-��
������������	����������	������-�	�

�	��� �	���� ��������� ���-��� ������� 	������� ���� ���
������� 8���� �)	�
���� ����-

.5/3��.5/69�������������	��
������������������	�����
��*�	��	��������	���,��#����	��

������������������������	������	����	�����
�����������	�����������?�	�����������	�

����������������-��������������������	

�	������	�����
���	��	��������	�����	���	�

(�������	���-���������������	���	����������	��
������������������������-�����������

������
��� ����-����� ��� ��� �	��� �	�
�� #�� ��� �����	����� ����� ��� ���� ?�	����� ��� ���	�

���������������	�	���

#���������������	���	
��	�����	�����������?�	�����������	�������������	���	
�

�	��� ������� +���	
�� ���� ����� (	���� ��� ������ 	��� ������������ ��� 
��
��;�� ��	����

����	�����������������	��	���������������
���������������	��������������	�� ����	�2

�����������������
���������������
������	����	������������>	�����������������	��?�	��

�	������ ���	
��� ��-�-�����2���2����������� ��-�(�����	��>	��� ��������	(��� 8���� �)2

	�
���� ���	���� .5:3������	��
	�� .5::�� ����9��%��������� ��� ��� ���� E���� ���� 	(������ ��

�	������������������-��
���	�����������#�	��?�	����������������
���	����-������	�����

��� ������ ��� ��-� ������2���2	��� 	����� ���������� �	�� ����2����� 	��� �	������ 	������

�������� ��� ���������� ������
����� 	��� ���������� 	������������ 8F	������ .5:3�

%���
� 	��� G������ .5:39�� $����� 	��� ��
���� ��� ��	�� ��� ��-��� �	(��� 
������������ ��

	���������

����������
���������������������������������	�����	����	�������������	����-�������

�������������	��������������������������	����������������	��������������������8���	���

.5:39��B���������
�������������
�������������	�������(������	��������-��
����
������

����
��-������	����
�������?�����������������������<��������������	����������������2

�����������(���	������������	���	����	�	�����-�������	������������������
����	���2

���	�������������������	���	
	(�������������	��-	����H�2���2E�(���	������	�����	�����

	�����
���	����	��	�������	����	���������
�����8�I�9�	������������	��	���������	
��


��������� ���� ���� 
��
���� ��� ������
���� ��-� ������������� ��� �����<���� �����������

������������
�������-��������-����������������)	����	���������	����	������	������	2

������������
���(��������(���
���������������	���	
	(������

$��-�	���)��������-��
���
������������	�����	����-��������	����D�#��������������

����������	������������������� ��
���	���
�����	����������� ��� ��������	��� ��� ��������

�����������	��������$��������������	��(�����	��������	�������������
��������������	��



(�
������	����������%�
��������� ����	�
��
����������� ��� .1/

����������	���������	���
���	����	���������������������������������	����(��	�������	�

1.� 
������� 8���� +�	��	��
������ .5::� ���� 	� ������� ��� �	������ �����	���9�� #�� ���� ��

�������� 
����(��� ��	�� ����� 	� ��	��� 
	��� ��� ������ �������� ��������� ���� 
�����������2

���	��������������������	������$����������������������������
���	���������������	�����

�������
	�����E�(���������	�����	��	������������������ ��	��	���-����
������� ������2

���������(��-��������2	(������ 	��� ��-2	(������ ��������	����(��	��������2	(������ ����2

����	���-����������������������������	�������	����-2	(��������������	���8�����)	�
���

�
�����.5639�

��-�������	����������������������	�������(����������
���	��-����	��������
���

���������� �	�� ��������	���� ��	�� ���� �������� ��� �������������-	����-��
�� 
���	����

������������
����������
	����������������	������������8�����)	�
����������	�����	��

.553��������������	���"�������.55C������9��%������������	�������������	(�����-��
2

����������������	���	�
������������������������	������������������(	����
�������������

����	�����	�������	��
����������-�������	����������������������	�������	����������������

����	����� 	��� ���� 	� ������ �����	��� 	�� 	������ (�� ������<� 8.56/9�� #����	�� ����� �	��

-�������������)��	���-�����(������������	���������-������������������	������	
�����

��������������������#���	;���)
��������-���� ���������� ����������� �������� �����

��������������8B������	��������<-����.5539���������	�	�������	���������������	�����

��
����� 	��� ���
��������� B������ 	��������<-���� ����� ��	��-����� �	������-���� 	� 
��2

�	�������	�����-������������	�������
������������	��������������	�����������
	����

����
����������������������	��-	�����	������������������������	��-������
���	���������2

����� ��� ����������	�������� ������-�����2����������	�������� ��� ������� #�� ������ �������

����	�����	�����;�
����������-����(��	�������	��C3�
������������ ��	�������������2

����	���� �	������� $��� ��������� ��������� �������� ��	�� ���� (�������� ��� ����	����� 	��

�	������������������)�������	��������������	������$�������������������������-�����2

����������	�������������������
���������	���-������������	������-	����������	����-��

���
������(�������������-������������

��

���������������������� ���������	���������� ��������	���	�	� �������������2

����
������������������������$	�
��� ���	�8$	��	���!	��	�.5569��$������������������

����	���� �����	��� ��	�� -����� �����;� ������������ ��� 	���������� ��� ���	���� -��
���;


��-������������	����	������
����	������	������������-	����	���
����������������(���

�
������8��
��	����-���2����	���9�	������
�������	(���������	�����	���(���
������-��
2

����	���������	������B����)	�
���������������������������������$	�
��� ���	������	���

��	���
������-��
���������������	��������������	��������������	���	����	�/C�
�������-	��


�����������������	��-��
���������������	���������������������	�������%�	�-��������2

�
������-��
���� ��� ���� ������������������������	���	���������	�./�
�������-	���
��2

����� ����� ������ �������
	���� ��� ������������� ������� %��������� ���� �������� 	���

����	���� ��	�� ��	������ �
������ -��
���� ��	��� ��� �	���� �	���� ��� 
������������� -����

��	���������
������-��
�������������������	�������	������	����

#�� 	�������� ��� ����� �����2������ ���������� ����� ������� ��������� ������ �����2

���������	�	�	����
���������������
��������������������������	��������	���������;�



.13�� ��������	�
��
������	���

�����)���$������)�����	����(��������
����	���������� ��	������������������	����	�	�	�


��)�����������-���������	���	
��	��	������������	������	�����������	���	
��	�����(�

��
���	��� ��� ��������� ���-��� ��� �����2�������� ���-��� ������������0� H��� �-���� ��

�����������������
��������(��%���	��	���$	��8.5539�-�����
	�	�����������������������

����
�@���-����������	����������������$�����������������������	������(��������(�������

��� ����	����� 	��� ���������� ��� ���������;� ��������� ��������	������ #�� 
	������	��

-����	��������
��	����-2���������������-�����(������������(���)
	���������������2

	������
���	�������	�������������	�������2�����������������-�����(������������(�

�)
	������ ������ �����	��� ��� ������	��� 	��� �����	��� ����	������ ���
���������� ��

%���	�� 	��� $	�� 
����� ����� ���� ���
������� ��� 
���������� ������������ ��������


����������	�����������	��	������	�����������������������������������������
�������
�2

��	��<	����� ��� �	(��� ��� ��-2������� ���������� ���	����� ��� ������2������� ������ �����

�)
�	���-����)
	������������

�����������������	����
��
�����������������������	�

���� �	��� ��������� ��
	��� ��� ��������� ���-���� !�� �����	���� ���� ����� ������
��

���������� ��	�� 	��� 	�� ��� ��	�� ���� ���������� ��� ������������ ����	������ ���-��� �����

�����������
������-� �������������	��� ������������������������� ��� ����� ��� ���
�	���2

�	���� ��
����(��� ��� ����� ���� 
��� ����� ������� ����	����� 
�	��� ��� ��	(����� 	����������

�����	���I���-�����	���������	
���
������������
�������-	������������������������2

�������	���
��-������

��-������ ������� ����	����� 	��� ���� �����������	�� �	
	(������ ��� ��������� ��� 	

-��
�������	��(�����(����������������
��������������	����1�$�����	��(�������(���)2

	������� ���� �������� ��� 	���������� ����� 	���I���-����� 	��� ���������� ��� ������ ���� ��

�����������	������������	����#�������	�����������	������	������
����������������	�����

���������(�������� ���������
��������������������I��	���������� ��� �������������	���2

��������� #�� ����� �����)��� ���� ��������� ����� 
�(���� ������� 	���������	�� ����	���� 
��2

��	���������	������������	������������	���	������������������I��	���������	���(������

	���	���/3�
�������8���� �����������(����������	�������
�	��.55/9��B�-������	���

��������	�������������������������	���I���������������
����-������)�����$�������	����

����� ���(��(	������� �������� ��	���	���������	�	� �����
���	��� #���	���	���	�������

������	�����
��������������������	�������0/����:7�
�������8����	��
	��	����������.5:5�

!	�	���	���B�

����.553���	�	��.5569�

$���
	����������������������������	���I�������������������������(���	
���	��	�

�����	�����������������	���	�
���������	�������������������������I���	��(������	��

��
����	������ ��� ��
���	��� ���������������(��-�����I����	������-	����)�����������

��������������������	��
��-�������	����I����	������-	���	�	
�����	���	������	����

�������������������
�������-��������
��	�������������������	��-������B���������������

����������������������������������������������������������
0
$����������������������	����	��	�
��)���������-���������	���	
��	���������-����������������������-��������������

�)	�
����+���������8.5539�
1
#������������)���"�	��8.55:	��(9��	��������
������������������������
�����	�
������������(	�
����
������	����

�������8+HG#�9������������ ��� ��������-���I��	������	�� ���������������
����� 	��� ���
�������� ��� 	�
���������

������������������	�����	�����������!����	���������	������ �����	������������������B���=#������
	������	�����������
��2

����	�������	������
	������	����������	����



(�
������	����������%�
��������� ����	�
��
����������� ��� .16

��������	�������
����	���������������	���	�������
�������������� ����	�����������
�
��	�

(���������������
������I������	������������������������	�����������
���	�������������I�

�	����	(������������������������������� ������� ��
�������?��
�����	�������������

����� ������������� ��� �	�� 	���� �	�����	���� ���� 	�?��������� ��� ����������� ����� �������

�����������������������������8����	��
	��	�����������.5:59�

%������
�����������	�	
�����	���	

������I����������������	��	������	(���

������������������������������	��������	��
������������
������	�������)
����������2

�����������������(	��������������������	�������$��������������	���	
	(�������������������

����	����	������
���	���������	�������-�(	����������
	�	�����	��	��	������������2


�	��<������������	���I��	��������������������
������	������(��������	������(����2

���� 	� ������ (	��� ��� ���� 
���������� 	��� �)
���� ��� ��-� �	���2	������ ��-� ����������

�������������������	������(��������	����
��)���������	������������	������������
���������

�����������	���2	�����������

����������
���������	���
����	��
��	���	� 
�� ����	

�	
�����	����!"

#������	(���������	��?�	��������������������	����������������������-�����(�

���������� ��������� ��� ������ �������� ��� ����	��� ��������� ���-��� ��� 	�� �����	������

���
�������� 	��� ������	����-������ #�� ����� ���������-�� �)	����� ���� ��	��� ��� �����	���

����	������ 	��� �����(��	�� �����	����� ���	���� ��� ����������� ������
����� 	��� ����2

�������	���	
	(������	���������������$��������������������������-�	�������	�������2

���	��������������������������������;�����2�������-���
���
���������������������������

���������������
������

#������!$� 
������	$��	
�����	����!����������	�

H���������(�����	�����	����������������
�������	���	
��	��������������	���������

	�����
�
��	���������	���)	���	��������	����� �����	����	����	����������������������

$	(���.�����	������
��	�����������	��:7�
��������������	�����
�
��	����������	���	��

������	������	������������	��������	����$������������	�
������	�������	������������	�

���������� ��	���������	��������	��� �	����(���-�/7�� �������C7�
������J�H���������� ��� ��

�������	�����������������	������������8!	���	������#���	��=�
	���	���+	
���	�9��	��

���-���������
�������������������	���17���	������-�������������������������
���2

�������
�������������	����������	����	����	
���
�	������������	������	��B����)	�
���

-����	�� #�������	� �	�� 	� �����	��� �	��� ��	��-	�� 	������..� 
������	��� 
������ ������

��	����	�����#���	� ���.53.�� �����	
�(��-�������� �-���	�� �����	���� ���	(����10�
��2

����	���
������(��.55/�



.1:�� ��������	�
��
������	���

$	(���.@���
����#������!�����
$�%������
��
��	� ��	����


 ��	��! &'() &''*

=#��

�����"����� ���	 67 50

"���	����
���� 6. 5:

����	
��� ��	� 5.

$	�
��� ���	 ��	� ��	�

+� ��	� :0

����=2C

#�������	 15	 :C

%	�	���	 ��	� :C

+����

���� 60 5/

$�	��	�� 3: 5C

H�����������	������	

 	�(���	 13( ��	�

G	��+�� 0:( /6

%�	��	� ��	� :1

A����=	� ��	� 5C

���������	

!	���	���� 00	 1:

#���	 0:	 /0

=�
	� 5	 0:

+	
���	� ./	 1:

����G	�
	 6/� 57

=����@
	
�.53.
(
.530
�
.531

��	��K�����	�	��	(���

������@� �������=	������������
�����+����	����8.5569�

#������������	������������	���-�������������	����������	������(	��������	�������

	��� ��� ������ ���������� 8���� (���-9�� ���� ��	������ ��� ���� 	����� 
�
��	������ ��	�� 	��

�������	���-��������������(��	���	�������-�����������	�����������	���
�
��	��������������

���	�	�����
�������������������	���	��	���	������������������������������������������

�������
����	����������������	�����	������������	���	�����������������	�(���-	��

��	��������	;�� ������������ ������	���	
��	�D����
����	����(������
��(�����

������������	���C�	���	�������������������������>�������������(�����������������������

��� ����	����� 	�� 	� 
	������	�� ������ �������� (�� ���� 
�
��	����� ��� ���� 	��� �	���

����������������������������������������������������������
C
B����)	�
����������������	����	�����
��	����(	�������	���	�������������������������������	������(�����������

�������������	���#�����

���������������������������������������	�	��������	�������������	���� �����������
������������2

������	����-����������	�������������������������	���������!����	��	�������������8.55C9�����	���������
�����������2

�����������������	���������������������	�	�



(�
������	����������%�
��������� ����	�
��
����������� ��� .15

������
������� ��� ��	�� ����	����	�� �����>��� 
������� 	���	����� ��� ���� �����������

(������	���������	���	
��	���$�����	��	����(�������	��	��	

��)��	�����	�������

����	��������������	����	��(��������������������������	������(��	����	���������	��2

���� ����	������ #������� 	� ���
	������ ��� ������ ����������� �	���� 	������ ���� ��������

���������	���	����(��������������������	������

 ��������� ������� $	(��� 0� ��� ����������� �	���� ��� 
���	��� ����	������ $��� �	(��

����	��� ��	��	�� ��� �����	������	����� �����	�����	����	��� 	���������	������	�������2

����� �	��� (���� ?����� ����������� ��������	���� ��� ���� 
��������� ��� 
���	��� ����	����

��
���	����������
	���������
���	
��	������������	������������-���������)��
�������

����G	�
	����-�������������	��(����	��	
�����
����������������
������������
���	��

����	����� ��� ������ ���	�� ���������� 8
���� ����� ������	��� ���	�� �	��	���� ����� 	�

G	��9�� ��� 	� �������� ���� ���
������� ��� ����������� �	���� 	����� ���	�� ���������� ��

�������������	����	�����-	�����������	����	���

$	(���0������

�+�����!� 	������	������
$

%������
��
��	� ��	����


 ��	��! &'() &'',

=#��

�����"����� ���	 5. .70

"���	����
���� 5C .71

����	
��� ..0 .76

$	�
��� ���	 56 .77

+� /: .07

����=2C

#�������	 37 ..C

%	�	���	 6C 51

+����

���� 5. ..0

$�	��	�� :1 56

H�����������	������	

 	�(���	 3C .75

G	��+�� 0/ .7C

%�	��	� /3 .7/

A����=	� ��	� .7.

���������	

!	���	���� C6 65

#���	 C0 .7.

=�
	� .7 .75

+	
���	� 11 C:

����G	�
	 5/ .7/

=���@����	��K�����	�	��	(���

������@ �������=	������������
�����+����	����8.5569�



.C7�� ��������	�
��
������	���

=������������� 	� ����� �	������ ���
� (������ ���� ����������� �	���� ����	��� ��	�

	���������	��������
���	�������	��������	���������
��(�������������-2������������2

����� ��� ���	�� ��
���	���� ��� ������ ���	� 	��� ����� ���������� ��� #���2 ���	�� B�����

	������ (�� ��������� 	������ ������� ����
�� 	��� ������� ��� ������ ���������� �	�� �	��

���	����� B��� ����	����� ���  	�(���	� 	��� G	���� ���� ������ 
���	��� ������� ����������

�	��� ������������� ����� ����-�	��������07�
���������� �	������� ���� ���
����������1/�	��

C1�
����������	������	����	����������
�������07�
�������8����	��
	��.5569�������	����

���#���	� ����������
���	��������������������� �	������������ ��������:7�
������� ��	����

(�����-��������+	
���	���������������������/7�
�������8����	��
	��.5569�

��������������������	����������������������������	(��������?�	������������	����

(����� 
��������� ������� ��	������ ��� ?�	����� ��� ����	������ ����� 	�� 
������	���� ��

��	��	���<����������������	����	�����������(���=�������������������	���	����(��������2

���������	������ ��� ���� ?�	����� ��� ����	������H����	����� ���-����� ��-� ?�	����� �	�

�	������� ������� ��� ��������������	����������
����	�����	�����
����������������������

�	����������
����������������������
����������	�
���������	�����������	��������
���	���

��� ���	�� 	��	��� ������ ��� ��������� ��� �������� ��	�� 
���� ?�	����� ��� ���������� �	�� ��	�

���������8
���
����(��������
	�����9�������
�����8���<��	���&	<�	��.556���	�����


.55/9�� $��� 
��(���� ��� ���

���� ���� ������ 
	������	���� 	����� ���� ������ ���	�

���������������	��!	���	������#���	��=�
	���	���+	
���	��	�������������������#���2

 ���	����������������	��G	���	��� 	�(���	� 8 ��	���	���%���	��.553������	��
	�

.556��$	��	���%���	��.5509��B����)	�
����������������������������	���������������

��� ��������� -��� ������ 
���	��� ������� ��� ��-2������� ����� ����� 	�� !	���	�����

G	����=�
	���	���+	
���	��������	(�����	������
����� ��)�����	��� 8����	��
	��.5569�

%�������������������������������������	(����	�?�	��������	��������������
�	��	���	��

	���� 	�� 	� �����?������� ����� ��������� �
���� �-�� ��� ����� ��	��� ������� ��� 
���	��

���������	������	��

 ����������)��������������	����	���������������	������������	���������������2

�	�����8$	(���19�������������	�������
���	�������	������������������������	����������

�	
���������������	��������?�	������=�����������������(���������������	����
��(�������

��������
�����	�������	�����
���������	����������	����������(�	�����=�������������	�

������ ��	������ ��� ���� ������������ ��� ����	������ ������ ��� ����	�� ����� �����������

��	�������B������ ���������2���������	��	��������������������	���� �����������	����	�� ���

������	�����������	��	������
���	����������B����)	�
����-�����!	���	������	��	������

������	���������������	������07�
����������.550��"���	;��������������	���-	��57�
��2

������������������������������	�������������	�������	�������������������	;��������2


���������� ���������� ����� ��	��?�	���� 
	������	���� ������ ������ ������� ������

�������



(�
������	����������%�
��������� ����	�
��
����������� ��� .C.

$	(���1@�����

�%���	
��!� 	������	������
$

%������
��
��	� ��	����


 ��	��! &'() &'',

=#��

�����"����� ���	 17 ��	�

"���	����
���� 06 57

����	
��� 10 67

$	�
��� ���	 05 ::

+� .: /C

����=2C

#�������	 3 C1

%	�	���	 .6 37

+����

���� 03 63

$�	��	�� .0 13

H�����������	������	

 	�(���	 1 ��	�

G	��+�� . 0C

%�	��	� .7 01

A����=	� /. 10

���������	

!	���	���� : 07

#���	 .7 C5

=�
	� 3 1/

+	
���	� .. 00

����G	�
	 06 :3

=���@���	��K�����	�	��	(���

������@� �=�� H��	�	(	���

$���� �	�� (�� ����� ����� ���	���� (�� ���
	����� 	���	�� ����������� �	�	� 	�

����������	���������	���������������
���������(���	����������;�����������������
����

	�� 
��)���� (�� ������ ������� ������� 	�� ��� B������ .�/� ��� �	�� (�� �)
������� ���������

-�����������
����	
��	���������	�������������	����������������������	����	���������	�

�������������	
�����	����������	�������
����(�������	���	�-	��������������$������
���2

���� ��	��������-������ ��� ���� �	����	������	�����������������(��-����	���	�� 	���
��2

������������������ �	���� �������������2
��������������������	�������"����� ���	L

%	�	���	L� ����	
���L� 	��� $�	��	��� 	�� ���� ������	��� ������� �����	�

����������������������������������������������������������
/
$���
����������	�����-�����(�	���������������2�������� ������������(	�������.0.������������$�����
������

�	��	(������������������������	���	������������	���������	�����������
��������	��	(������������	���������
��	���	�
���2

����	�� ��� 
��� �	
��	� �������� ��������� �������� ���� 
��������� ����������� �	���� ����� 	� ?�	��	���� ����� ��� 
��� �	
��	

�������-������������!��������������������	���(�����������
����	
��	����������	�	���������)��
����	�
��
����*���#

 ������8������!	�
�.55:9�



.C0�� ��������	�
��
������	���

����� "�����  ���	� 	��� ����	
���� �	�� (�� ��	�������� 	�� ����2������� ����������

%	�	���	�	���$�	��	����	��(����	��������	��������2������������������$�����������-

��� ���� ���������
����������� ��� ���� ������� �������� ��	�� ����������(��������� ����	����

�	�����(�������)��	�����	��������2�����������������	����������
��������	���	�����2

������������������	�����	����	��������
��
����������(����������	������������	�����	�

��-��2�������������������������	���������-�������	���������������	������������	����

����������������������������������	����������	����������������

B������.@����������	
�+��
����
� 	������	�������


-%���	
��!� 
������	.

Bangladesh

Pakistan

Thailand

Nepal

India Indonesia

PRC

Malaysia

Singapore

Sri Lanka Philippines

Rep. of Korea

Hong Kong, China

100

120

80

60

40

20

0

0 2,000 4,000 6,000 8,000 10,000 12,000 14,000 16,000

E
n
ro

ll
m

en
t

R
at

io
(%

g
ro

ss
)

GDP per Capita, PPP (constant 1987 $)

Actual Enrollment Ratio Predicted Enrollment Ratio (A) Predicted Enrollment Ratio (B)



(�
������	����������%�
��������� ����	�
��
����������� ��� .C1

B��	��������������������������	����	�����������	����������������	�����8$	(���C9����

�	��(���)
������� ��������������� �	���� ���� ���������������
�����-��� ��������	��<��

���������� ��� =#��� 8�����"�����  ���	L� "���	�� ����	
����� 	��� $	�
��� ���	9� 	��

������� ��	�� ������ ��� ������ �����-���� ���� �)��
����� ��� ���� +����

������ ��-�����

��������	����������������-���
���
�����������=#������
��(	(��������������	������
���2

���� ��� ����	����� 	�� ���� �������� �������� ���� �	���� 	��� ���	����� ������������ (��-���

	���	��	���
���������������������	������
���������B������0����������"����� ���	�	��

����	
�����������(����-����3

$	(���C@�����

��������!� 	������	������
$

%������
��
��	� ��	����


 ��	��! &'() &'')

=#��

�����"����� ���	 C 07

"���	����
���� C C0

����	
��� 3 00

$	�
��� ���	 C 0.

+� 	 0

����=2C

#�������	 . .7

%	�	���	 . :

+����

���� .0 06

$�	��	�� 0 .5

H�����������	������	

G	��+�� 7 .

%�	��	� . .7

A����=	� ��	� 0

���������	

!	���	���� . C

#���	 0 5

=�
	� . 3

+	
���	� 0 1

����G	�
	 . 5

=����@� 	�K�(���-�����
�������

��	��K�����	�	��	(���

�������@�%���	��8.55/9���=�� H��	�	(	���

����������������������������������������������������������
3
$���
����������	�����-�����(�	���������������2�������� ������������(	�������.75������������$�����
������

�	��	(������������������������	���	�����������	���������	�����������
��������	��	(������������	���������
��	���	�
�����2

��	�����
����	
��	������������������������������
���������������������	���������	�?�	��	������������
����	
��	�������

-������������!��������� ������ �����	� ��(��� ����� ���
��� �	
��	� ���������	�	� ��� �����)��
����	�
��
���� *��� �����

8������!	�
�.55:9�



.CC�� ��������	�
��
������	���

B������0@���������	
�+��
����
� 	������	�������


-�������!� 
������	.

����
��(	��������	������-��������	����������
��������(	�����
��������	�����������2

��	��� 	��� �����	���� ������� ����	������ ��
���	���� �����	��� ����	������ 
��
	���� ���2

����������������
���	��<�������
	������	��������(���	�����(������������������B������


��
��������������
���������������	���	
	(������������������	�������������	���	��	��

	

��������������������������	���(�����������������$	(���/�
�������� ���������������� ��

�������������	��	�
��
�������������	�������	��������������������������������	������������

�	(��� ��� ���� �����	����� ��� ����� 
��
������� 	������ ��������� ���	���� ������	������	�

����������	��������	����������������������������	��#��������������	���������-�
��2


�������� ��� ���� ����������� ������� ��� ������ ���������� ���	����� ��� ���� ���	����=#��� ��



(�
������	����������%�
��������� ����	�
��
����������� ��� .C/

�����������-������������������	��"���	�	�������	
�����	���	����������������	���	��

�I�������������	�����������	���
����	
��	�	������������������������������������	���	��

���
	�	(������������������	�����������������������	���8$	(���39�

$	(���/��� 	������	���	�/��������	
�������
�%���	��

�	�%������
��
��	� ��	����
$�&'',

 ��	��! +����	�� 	������	�

=#��

�����"����� ���	 1/

"���	����
���� C7

����	
��� ��	�

$	�
��� ���	 ��	�

+� C6

����=2C

#�������	 00

%	�	���	 06

+����

���� 03

$�	��	�� .5

H�����������	������	

G	��+�� C/

%�	��	� ��	�

A����=	� ��	�

���������	

!	���	���� 0/

#���	 03

=�
	� .C

����G	�
	 1C

=���@����	��K�����	�	��	(���

������@��=�� H��	�	(	���

$	(���3�	�������
�	����I���
�������	��	�
������	������&=+����������	��������

���������������������������������	���-���������I��
������������(����������	�	�����	�

��	�� ��������� ���	���� ������	������	�� ���������� ��� ���� ������� 	������� ��� ����2

������2���	����	����������	��-�����(������������(�� ������������� ���������B����)	�2


�����I���)
���������� ���#�������	��%	�	���	��+����

������	���$�	��	���	�������

�������	�����������#���	����+	
���	��



.C3�� ��������	�
��
������	���

$	(���3���%����
������
�������	
����������	�������������
$

%������
� ��	����
��	
�0���


�1��%���	��
�
��	
�����	����	
 �1�� 2��	
�����

 ��	��! �����&$)))�+��
�	
 �
���+����	���������/+

=#��

�����"����� ���	

"���	����
���� 0�3 0�:

����	
��� 0�0 .�.

$	�
��� ���	 ��	� ��	�

+� 7�1 7�3

����=2C

#�������	 7�0 7�0

%	�	���	 7�. 7�C

+����

���� 7�. 7�.

$�	��	�� 7�0 7�0

H�����������	������	

G	��+�� ��	� ��	�

%�	��	� ��	� ��	�

A����=	� 7�1 7�C

���������	

#���	 7�. 7�:

+	
���	� 7�. 7�5

����G	�
	 7�0 7�0

���	��������������

 	�	�	 0 .�C/

B�	��� 1 0�1:

&���	�� 1 0�16

F	
	� 3 0�::

���������	��� C 0�CC

=���@����	��K�����	�	��	(���

�������@ #�����	����	�� #��������� ���� %	�	������� ������
����� 8.5539�� ������� =	������ ������
����� +����	���

8.5569�

�����������	��������������	������	������������������!

$�������������	������	��
��������������(��	�������	������������	�����	�������2

�������������
����� ��� ��������������
�����	��(��	������������ ����������� ��	�� ���

���	��������������?����������������������-�����
�������������������������)������

���������	��
��������������������������(	��������	�����	�����������-2�����������

	��� ������������� ��� ������� ����	����� 	��� ����������� ������
����� 	����� �	��

������2������� ����� 	�� 	� 
������	�� (��������
� ��� ��������� ���-���� ������ ���



(�
������	����������%�
��������� ����	�
��
����������� ��� .C6

��
���	���� ��� (	���� ����	����� 	�� 	� �����	����� ���� ��������� ���-��� ��� 	�����

�������	����	�
��-��������-�	����������	

����	����	�������������	�����
	����(��-���

�����������	�����	��������������	���	
	(������	���������������-���������������)����

��������� ������
������ B��� �)	�
���� ��������� ������+��� 
�� 8������ !	�
� .5519

��
�	��<���������
���	���������������	������
	������	����(	����� ���
������������-��

����������	;������2
������������������������������	������
�	��<���������
���	������

����������� ��� 
��������� ��	�� ���-���� ���� ��
���� �������	���� �������� ��� ����������

	�?������ �������� ��	��� 8�������� �������� ������� ������������ ��
���� ��� �	
��	�� �����

��(������� �������� ������������ ����������	����������� �������� ��	������� ����9��$����2

�������	���	�������
�������������������������������������	������
����������

�������������������	�����������������������
��������	����
���	����

�����������	�

���������������)
������ ��� ����?�	���� ����� ��	�� ��������� ������� ����������
�������

���	�� �����������	�� �	
	(�������� 	�� ������ �-�� 
������ #������� ������� ������� ��� ����

������	������	����������������������-���
���	������	�������������	���	
	(�������	�

(���������	���������-���������-�����������������������

$���������������-����)
��������������	;������2
���������������������	����2

����(����������(����������������������	
�����������*������������,�������������������

���	
�����	��F	
	�����������������������	����	��	�������������������	��������	-	�

����� (����� 	�� �)
������ ��� �	(��2���������� �	���	������� ������ ����� 	�� ��)������ ��

���������2�����������
�������������=#������
�����
�	���������	�����	�������	�����������

���������� ������
�������� �
���2���������� �)
������ ���������	�� ����������� �������	���

������	������	�����������

�������������������	�	����

�����������	�����	���������������	��$�	��	���-�������������(��	�������)	�
��

��������
��������(���	�������	�������)	���	����������������	������������	�����������2

����� 	(���� ���� ������� �)
������ 	��� ������� ���-��� 
������	�����  ���	������ $�	��	��

�����-������
	�����������	������	�����-��	��	�
��������	����������
��
�����������������	�

�	���	��������)
�����������10�
����������.5:7����:7�
����������.55/��-����	������2

?����� �������� ��� ���� ��	��� ��� 	���������	�� �)
������%����������	���	������� �)
����

�	�����������	-	��������	(��2����������
�����������
����������	��������	�����������

����� ������������ ��� ��	��(�� .551� ���� �	����� �)������� ���� �������� #�� .55/2.553� ���

���-�������)
����� �����-����(���-� ����	���	��� ���� ����
��������� �������	����(��� ���

������� �������2�����������
��������
��������� ���	������� �����(	���� ��	�� ���������

�	���������

���� ����� ��� ������ �	���� ���� �������D� $��� 
��(���� ��� ��	�� ���� �������� ��� ���

���-������$�	��	��;����-2������������)
������	�����������������	��������
�������

�����������-2-	����������������!	���	������+� ��#���	��	���A����=	�����������)2

	���	��������-	����	����	��������������$	(���6����������8	�	
���������G	���.55:9�

���������������	��!	���	������+� ��#���	��	�������G	�
	��	���	��	��	��	�������

����������	��%	�	���	��+����

������	���$�	��	��� ��� �����	���	������������
�����

	��� �����
������ �	(��2���������� 
��������� $���� �	
��� ��� ����� ��
���� ��	�� ���� �	����

����
���������������	���������������
���	��<�� ��� ��	������	���	���	��������)
����� ��



.C:�� ��������	�
��
������	���

-���������
���	�������������	��	��	����������������-�-	�����	���-������	������-�

	���	
�����	��������	�����������	���.7����./���	���

$	(���6����		����3���
��	���	��������	��-4%5.$

%������
��
��	� ��	����
��	
�0���


 ��	��! &'6) &''7

=#��

�����"����� ���	 ��	� ./�.37

"���	����
���� /70 .C�05/

����	
��� ��	� .6�65C

$	�
��� ���	 ��	� .C�C35

+� 1C7

����=2C

#�������	 .3/ .�77.

%	�	���	 676 C�///

+����

���� 3/. 0�:/6

$�	��	�� ��	� C�5.6

H�����������	������	

 	�(���	 0C5 ��	�

G	��+�� ��	� ��	�

%�	��	� ��	� ��	�

A����=	� ��	� ��	�

���������	

!	���	���� 1./ .�7.3

#���	 CC/ .�035

+	
���	� C/1 ��	�

����G	�
	 ��	� :16

=���@����	��K�����	�	��	(���

������@ �=#�H�#�������	����	���������	�	(	���

������� �����-���������(���������� ��� ���-��������� ��	�����
���	��������(�����2

�	��������-������������������������2������������)
������#����������������(���	�����

(�� ������� �����	(��� ��� ��� ���������� �����	����� ��
������	����� ��� $�	��	��;�� ��������	�

(	������-������ ���� ���)���� ����
��(���� ��� ��	��$�	��	��� ��� �������	���� 	������	�� 	�

	����(���
�����������������������������2������������)
�����8G	���.55:9��$����-����

������ ������� ����� 	�� ������������ 	��� �	���� 	��� ��	�������� 	�� ������� ��� ����2

�����������
�����������������������������	���������
�������	(���������������	��
	�����

������
������������	��	���	�����	
���
�	������$�	��	�����������$�	��	��;��
���������

����������)
����������
�����������������������	�����
�������������������-2-	���	��

���
�������	(�������������



(�
������	����������%�
��������� ����	�
��
����������� ��� .C5

�� �����	�� 
	������ ��� ��������(��� ��� ���� +����

������ -����� ������� .55.2.553�

��������	�� 	��� ����������� �)
����� �����	����(��16�
������� 
��� ��	��-����� �)
����� ��

��)������	����	������������	����(���������:�0�
���������������-�������-����	���	����

	��������-���������)��
��������"���	�	���$	�
��� ���	�8������!	�
�.5569�������2

���	������ ��������	�� 	��� ������������ �)
����� ��� ���� +����

����� �	��� ����� ��-� �	���

	����>	� ����������� ��� ���� �	��� ��	�� ���� ���	�� ��������� ��� 
���	����� ���	���� ��� ���

���
����� ��
��� ��� 	����(��� 	��� �������� 	����������� B��� �)	�
���� ���� 	���	��� ���	�

�������� �����������������>-�����	�������������66�
���������� ���	���������������)2


��������.55/>��������	(����07�
��������!�����
	�������$	�
��� ���	��	��	�������

	�� 	���	��� ���	�� �������� ��� 	(���� 6/� 
������� ��� ���� 
���������� ��� ��������������

8������!	�
�.5569��%����������������	�������������������������	��	�����������������2

��������	�����������	����	

����	(����������+����

����������������
	����-�����	����

�����	�������-�������
�������������������	��������������	���	
	(������

#������
�������������������-���2�������������������	��	����)
����(	�������������

���-���� �
������-�������������� ���� �����������������H���������� ��������
������������2

�	��	��������������������������	�������������������(��	�������
	������-���������

����������� ��� ��	�� 	�� ������������ �������	�� ���������(	��� ��� 
������� ������ �)
����

-������
�����	�����
���	���	�����	��
�������	���	��������
������������������
�������

����� ���� ��-2-	���� ���
������ ���������� ����� ���� �)����� ������ $�	��	��� ��E���

	�������������	��������������	�������
���	�������	����������������������	������������2

�	�������	��������	�����-�	������������	�������	�����	

�	������(������-�	��(�	���

	�	�����(	����	���	

�������������������	��������������	��$�	��	������
�������������

��	���-����������������(����������������	��������������-�����������	��	���	�����	��2

	�������������	�������?������8G	���.55:9��	���	��$	(���/����-��$�	��	����	��	� ��-��


��
���������� �����	��2������ ��������� ��������� ��� �	���	�� 	��� 	

����� ����������� ������

��	���������-2������������	��!	���	�����	���#���	�

G������� ���	�� �����������	�� �	
	(������ �	�� 	���� (�� ���	���� ����� ���� �	��� ��	�

-����� $�	��	��� 
����	���� 	� �	���� 	������ ��� ����������>	�� �����	���� (�� ���� 
	�2

������������������
	���������
�����������������	��
������������	���	�
���	��������>��

������������
��
������	�������	�����
	�����������������������������������������������2

�����	��
��
�������	��	��������-��2����������������	��+	
���	�@�#��.55/�$�	��	��


	���M317����������(�����������������M.�������������
	����-����+	
���	�;��
	�����

���M.0���������	��������
�����M0���������8)��
����	�
��
����*��� ���������,9�

B������������� ��	���	��� ����� ������ ���
������������ ��� ����
������������� ����2

�
������ �	(��2���������� ������� ���	������ ���
������������ ��� ���� 	(������ ��� ����� ��

-	����	����-���������������������
�������
��������������� ����
������������� �����	��

�������������������������
���������������-�	�����
����������������������	�����-���

���	���	����	������
�	�������������������������
������	����	�
��������������������

	���

��������	����(��2������
��	���������-������(�����
��������?�����-��
���������

�
��	��������������������	���	
	(��������



./7�� ��������	�
��
������	���

�������	������	���
�����
8�%��������
��	
�+������


���������	������
�����
���� 
������	��	
�����	����!����� �����	�

&�������	������������
�����������	����������������������������������	���	
	2

(������������
���	���������
�������
������������	��������	��������	��	������������������

�����	��?�����������	���������-�����������(�����	������$����	�������
�(�������	��������

�����	���������	�����������������
�����	�����������������
��������-�����������$��

������ ��� ���� ����������� (��-���� ����	�� 	��� 
���	��� �������� 	������ �	������ 	����������

������������������������
��������	����	��������	���
	������	��	�������������������������


���	�����������	���-������	���	���	�������	�����������������������	��	����������������


�����������-����	�����	���
�����������	����������	�����	���������������	�������	�������

(�����������(�������(��	���	��(�������������������	��	�-������	�������E�����������������2

����	���-���������������$�	����������	������	��	���������	���
���������)����	�����

������	������������	������-	����������	����������-�������������������	���I�

�	�� ��	
� ��(��	���	�� (�������� ��� ������ ����������� ����>	��� ����� ��� 
��������� -��


�����2���
�������������������I�>�����	�����������	��������������(��������������	�

-�����$�	��������������	�����������	���)���������
���	������������$�����	

����(��	���

���� 
��-������ ������
��� 	�� 	� ������� ��� �I�� 	���������� ��� ���������� ��� 	

��
��	��

���
�������(���������	���������������H�������	��	�����������(��������(���������������2

�	����� 	��� �������� ������������� $�� ���� �)����� ��	�� ����� �	
��� 
�	���� �����	�
���-���

�������

�����������	����������������	���
���������������	��������������)������������

��
����������-�������������	������������������������������������

�������I���#�2


��������������������
��������	��������
���	����

������������� ��������@������	���

����� #���	�� ������ ����	�� ��	�� ���� ������	�� �	���� ��� �������� ����� ��������� ��
���� ��

�����������-���� ��
��	���� ������ ������	�������	�� ����� ��2�������I��8!	�	��� 	��

B�

����.553���	�	��.5569����-���������������)�������������
�����-������(�����������

���	�� �������� 8B�

���� .556�� G��� .5569� 	��� ����� ����� ����� �	�� �	��� 	������� �����2

?�������������������������������	���	
	(������

$��� ������� E�������	����� ���� 
�(���� ���	������ ��� ��� �������� ��� �?����� 	��� ��2

�����������(�������#�������	����������	�����������)	�
������������������������������
���	��

���	������� ���� 
���� 	��� ���	��	��	���� 	��� ��
���� ��� (�� ������� 	������ ��� ���� ����

������� 
���� 
��
��� �	�� -���� ��� 
	��	
�� ��� ����	����� ��� ���� 
��-������ ��	�� ����

-����� ���	���� ���	���� ������ ������� �	�������� ������	�� �	��� ��� -	�� ��� 
	�� ���� ���

$�
��	�������������	��������	�����(�������	������	���	������	���	���	������������	����

(����-�	�	�������������	�����������������������
	��������������	������$�������	�������

�����	��-�����I����I��	���������� 	��� ��
��	���� ?����� �������� 	��������	���� �������

��(��	���	������	����
�������8�����)	�
���� ������������
�	�-���2�?��

��� �	(��	����9�

������ ������������� �	������������I���	��(�� ������������� �����
��� ��������������


������� ����� ������ �(�	������ ������� �	�� (�� 	� 
��(����� ��
���	���� ���� ��	����� ������

�������������������������	���������������

������������������������I��



(�
������	����������%�
��������� ����	�
��
����������� ��� ./.

#��
�����
������������������������	��	�������
�(�������	���������(��������	�����	��

����������� ������
�����6� ��-������ ��� ���� �	��� ��� �������� 
�(���� ������� (�������

���������	������(���	������	������-�����	������������������������

�������
�(������2

�	�����	������-�	���)������#�������������������������-��������������������	����	�������

����������-��������������	��������������������$�����-����������	���������������	���I��

�����������������
	������	����������������
��(��-���������������	�����	�������	����

��-��������������-������	�����������	�
������
��������	����	�����
�(�������	����

��-	��� 
���	��� ����	����� 	��� 	-	�� ����� ������� ����	����� ��� �	��� ������
���

����������� 
	������	���� ������-����� 	������ ��� 
���	��� ����	����� ���	���� 	� �������


��(�������	�� ��� ���� �	����	��� ���� ����D�B���������
���� �����	���������������� ��� ���2


����������	����������	������������������������������(��-��������	��	���
���	�����������

�	���(���������	��������	������	��������
���	�������	�����	���

������������������2

�	������$�������-����
���	
��(������	�	�����<���(��	�� �������	����� ���+�	��	��
�����

8.5539@� ����
��(	(������ ��	�������������	�������	��� ������������	���� ���	� ����2�	����

(��	
�������� ����������	����H�� �����������	���� �	�
����������������	�	������ �������2

	����-�����������������������
������������������������	��	��������������������������������

����������������� ������������������ ��������������	������	�� ��
��	����	������ ���
	�

�������8���	��	����
	����������9�

H�� ���� (	���� ��� ������ 	��������� ��� -����� ����� �
���	�� ���� ���� ��-2������

�����������������������
������������
���	�������	������������������������������������

����
���	�������������� �����	�����-2���������������
���	���� ������ ������������	�

������������	����(��������������
��(��������	������	���?�	�������	������������
�����2


����(���	�
����������������	����	�������������������������-	�������N�����	�����������

���������� ����� ��� �������
�	��<�� ������ 
���	��� ����	����� �������� ���	����� ��� �����

������	���	��������	������������$�����	��(���������������	��-	����!��	����	���)	��2

�	����� ��� �
������� 
��� �������� 	������ 
���	��� 	��� ������	��� �������� �	�� (�

�����	�����	��	�������	�������	��������;�����	�����
����������8��	��������
����� ������2

������	������������������������������������ ��������������	����9������	���)	��������

�	���� ��� �
������� 
��� �������� ��� 
���	��� ������� ������	��� ����	����� � ����� ���

���������%���	��8.55/9�������������	�������������	����������������������	�����������

8!	���	������ #���	�� +	
���	��� 	��� ���� G	�
	9� 	��� ���� +� � ��� ��� 	���	��� 7�C7�� #�

�����	���������	��������(������������=2C�	�������=#���������	���	���7�67�	���7�6.�

���
����������$�����������
	���������������������	����������(�������(����������(���

��������	����	������ �������������	����	��	��	��������� ������ ��-2����������������

���������������
�������<������
������������
���	�������	�����

�����	����������	�����
	���
�
��2��	������	�����	�������������	��������������

����� ������ ��� ���� ���	����� ��
���	���� ��� 
���	��� ����	����� ��� ����� ��-2������

����������������������������������������������������������
6
"�	��	���$���(��
�� 8.5::��.5:59� �)	������ ���� ��������� ������������������ 	������������� ��� #�������	� (�

������ 	� ����	�� 	�����������	���)� (	����������� $����� -��
� ��������	���� ��	�� ����� ���� �	(��2���������� ������?����

��	������	����
����	�����
���	����$�����	���	�������
	�������������	��	����������-�����!	�����������������������	�������

�	����	��(���	�����������(�����������
�(�������	�������������	�����	����������
�����������������



./0�� ��������	�
��
������	���

������������
�����(��%���	�� 8.55/9�� ����*���	����	��,� ���� 
�
��2��	����� �	����

-����1.��01��	���.:�	������
���	����������	����	��������	�������������
���������:�$��

�	������ ����	������ ����� ������ ��	��� ��� ��� ���� �	��� ��� 
���	��� ����	����� ���� �����

���������	�������������!	���	������#���	��	���+	
���	���B����)	�
����-����	�����


�
��2��	����� �	����� ���!	���	�����	�� ����������	���	��� �����	��� �������-����06�	��

.5�����
����������	����������������������	�����������*���	����	��,�����-	��3C�	�� ���


���	��������>�������	�����(���������	��
�
��2��	������	���J5

$����� ��� ���
	������ -���� ������ ���	�� ����������� ��
���	���� ���� (������ 
��2

�����������������	���	���������	������	�����������	�����������������	��!	���	�����

#���	��=�
	���	���+	
���	�������������������-��������������������
���	�������������	2

����� ��� ������� ����������� ���� �	��� ������ ����� 	���� �	��� ���� 
������� 
������	���� ��

���������������������	����������������������	���������������������������	�����	�������2

���������
���	�������	�����������
����(�������������	��?�	���

#���	�� ���(��	�������� ��	�� ��� ����	(�������������	(��������	�����������	���������

�����������������	���	��������������������	�������������
����(�������������������
����2

(������ ��	�����������	;�� ���	����� �������� ��� ���� 
���	��� ����	����� ��� �	���� ��� ������

����	������	������(������
�������.7���-����������������������������������	�������


(��-���������������������	�����	�����������������)��������(��� ��� ��������������2

�������� �����
	
��������������������� ��	��	�� ��-� ������� ������������������-�����(�

-���� 	������� ��� ������ ��� 
��������� 
���	��� ����	����� ��� 	��?�	��� ?�	������ $���� ��

�����������(�������	����������������%���	��	���$	��8.5539�������(����	�������#���	���

	�� %���	�� 	��� $	�� 8.5539� 
����� ����� ��� ��� ��� 	������� ��	�� *	��� ���� (�������� ����

���������� ��� ����	����� ���� ������	��<��� ��� ���� 
������	������� 	�� ������������� ���

������2����,�� ��� ��� 
����(��� ��� �����
���� ���� ������������� ��� ����������� �	���� 	�� ���

��������������������	�������������������2�����������-���������������	������	��(��������

����	�����������	�������(����������(�����
	�������������	��(��������-��������	�������

�������	������-�����%���	��	���$	�����
����(��������������������������������
�(���

	���
���	����������������	�����(���	���������	���������������������	����������
�����2

����� 	�� 	� ������� ��� ������� 	�����	����� $����� �������� �����	��� ��	�� ���� �������� ����	�

�������� ��� ����	����� ���� ��-2������� ���������� 8������ -����� 
��� �	
��	� &�+� -	�

07�
�������������������������������	�������.5379������������)
	������
���	�������	2

������B����������8
����	
��	��������(��-����07�	���C7�
�����������������������	���

���.5379�	�������2�����������������8
����	
��	� ����������	���� ��	��C7�
���������

����������.5379�������������)
	���������������	���	��������	�������	���������
���������

��	�����������������������������������������(�����-���������	�����	��	��	�������(�����

����������������������������������������������������������
:
$����������������������-���@�����=2C��=#����F	
	���+� ��	�����������������	������������ 8!	���	�����

#���	��+	
���	���	�������G	�
	9�
5
$������(��������#���	�	���+	
���	��-����C:�	���0/�	���C.�	���.5�	������
���	���	���������	�������������2

�
���������8�����	�����-��������	�	��	(���	�����������	��������9��$����	���������+� �	�������G	�
	>�-��������������	�

*�����2��������,� ���
���	�������	����� ���	����� ��������� ���������� 	��������� ��� ���� ������ �������	� ����������� ����>

-����
�������	���������	����	���	��	�����������������������	�����
.7
%���������	��������������	��+�	��	��
������	(����	���(	������������������



(�
������	����������%�
��������� ����	�
��
����������� ��� ./1

��������� ��� ���� ��-2��������������������� ���(��������� �����

��������� ��� 	�?����

������������	���	��������	����
���������������(��������	
��	����
��������	�������	

��	����	��������
�(�������	��������-	���(	��������	������������������������

��� ���� �	��� ������ ���� ��
���	������ ��� ���� 	(���� ��������� 	��� ���	�� ���� ���

������2������� ���������� ������	� ��	�� �	��� (���� 	(��� ��� 
������� ���	���� 	������ ��


���	�������	�������	�����������������	�������(�����$����������������	�����	�����

������������������	���������������������������	���������
��������	����������������-��

��?���������	�����
�����	���
��-�������N����	��	���������������������������������������

���������� 
	������	���� ���� ���� ����2
���������� ������	������	�� ����������� ���� ���2

����� ����������� ����	������	����������������� ���� ��?������ �
����� 	���
��-������� #�


	���� ��� ���	����������������	�
��� �	���������� ���� ��
�������������	�� ����(�����������

�������������

$������������������������	��
�(��������������(����������
�������(�	�
�����(����2

<	��������������������	������#�� ����������
�	���� ��� ��� ��
���	��� ����������������	������

!����	���8.5539��(��-���������	��������
�����������������	������=���	����������������2

�	������������������	����	�������	���2(	������	�������	��������������-����������������

(����
���	����)����	��������������������#���	�����������������������	�����������������

��	��������� ��������� ���� ���	�������-���� 
	��� 
���������	�� �����������$��� 	

��
��	��

������������������������������	��	�������	���������
����������������������������	�������

���������� ��� ��� ������� 	�� ���������� ��	��� 	��� �����	����
� 
����	�� ��� ���
������

��������������������(���������������������	����(�������������������	����	�������	���2

(	������	��������	���	�����
���	����)����	��������%�����������������(��������������(�

��	��������������������������	������	���������
	��������	�������������	����

#��	�������������(����<��������	����	������������������������������������	������������


����(����������������������
�����������	����	����������(����

��������
���	���������2

������ ��	���	�����	��� ����������
�������� ������������� ��	�� ����
���	�����������	������

$�������(��	�������	����������������)����	�����	����������������	�����������	(���������

������
��������������	�
�����������	���	����������	���������	����������	��������-����

��?����� ���� ����������� ����������� ������
������ $����� ���"���	�� ���� �)	�
���� ���2

������������	������������������
�������	����������������	��	���������������	�����-�������


���	��� ��������� �	
���� 	� ��

������� ����� 8����	��
	�� .5569�� $�� 
������� 	

����

����	���� ���� ������������ ��� .533� ���� ����������� ���	(������� ����"���	�� #��������� ��

��������	���$�����������#�� �����	������	���� ���� ������������������ ����	��������� ��� ���

���	����������
���
��(�����	�����	����-�����������������	������	���	(���
������#�����

.567�� ����������������������� ��������
�	����(�������������
���	��<��� ����	���� ��2

���������� �������	���� 	�� ��������� ����� ���� ����������� ��� 	� ���(��� ��� �������� ���������

�	������������	���� ������������� �����	�� �������� ����������� ������	���� �����������2

�	���������	��	��������
(���������	����	���������������!�����������������.567���"���	

�	��	�� ��	���.3��I��������������� 8�	������-�����-���� �	������������	���������� ���

%�������� ��� �������� 	��� $���������9�� �����	���� ��� $	�
��� ���	�� ����������



./C�� ��������	�
��
������	���

����	���� ����������� �����	���� 	� ������� ��� �)�������� 	��� �����	��� ����	���� ��� 
������

�����������	����

��������
���	������������8����	��
	��.5569�

#�������
���	�������������	����������������������������
����	�������������	���	
	2

(��������I�� ������������� ��� (���� ����������-��
��� ��������-���� ���� 
���	��� �������

	��� -���� ���� ��	��� ��� ��(�������� 
���	��� �������� (��� �	����� �������� ������ $����

-����	�� ����"���	�������������	��������� ������	���� ������?�	��������� �����	����	�

�I���)
������������������	����.567���:7�
�����������I���)
����������-	��(�����(�

����
���	����������(�������	����.557��8����	��
	��.5569�������	�������������	����I�

����������������#���	��	�������-��
���	��-�����(��	������������������������������
	��2

������
�� -���� ���������� ��� 	� �������� ������ ������������� �	��� 
�������� ����	���� 	��

���������������	���	��������������	���	

���	������������������

#�� 	�������� ��� ���������� ��������� 
	��������
�� (��-���� ���� 
�(���� 	��� 
���	��

������������������������
�������������-������(����"���	�	���$	�
��� ���	�������	��2

������������	����������
������������������	���������
������	�������������	�������2

�������	�� �	
	(������� !�� �����	���� ���� &���������� ��� #���	;�� 
������ ���	������ ���

��
���� ��� ����������� 8-������� (�� ��
���� ��� 
�����	�� ��
���� ����� 	�� �?��
����

��(������� �������� ����������� ��� (�� ��������� ��	������ ��� �����������	�� 
��-2��-9

-	��������������������-������������������������)��	��������������	�����������������

�	�������	���(����	����
��������������������
������-	����
���������(��	��	�����2

���2(�	���	����
��	��������
�������	����-�	��������(����
������(������	������	������2

����� ��
���� �������������������	��-��
������ �	�����-������������ ������������ �	����

�	���� ��� ���� -������ !�� ������	������ ���
	�	����� 	��	��	��� ��� ����� 	�� �)����� 	��

�
��	�������	���� ����	���� ���������� ���� �������� #���	� ���� ���� ������
� �)
���� ���2


��������������������	����	���
��-�����2(	��������������#��������������#���	;���������2

��������������������-	����)
����>�)
��������.55/2.553�-����M0�/�(������>�	������

	(����	������������	�����	�
���������	��������������������	����	�����	���������������


��������-	���������������	�
���..

$��� ���������� �	�� �)	������ (��	���� ���� ?�������� ��� -����� 
����� ��� ������2

������ ��� ���	�� �	
��	�� �������� ���	����� 	��������� ��� ���� 	����	����� ��� 
�(���� ��2

���������#��	���������������	��-����	��(������	�������
��������������������������)����

	� 
	������	�� ��������� �)
	������ ��� 
���	��� ����	������	
��� ���	����� ������ ���� ���

��-2������� ���������� ��������� ����	
�� 	� (��	
�������� ����	���	�������� 	��� ��2


����� 	���������	�� 
������������� H�� ���� ������ �	���� ���� ������2������� ���������

���
����	�����	��������������������������������������	�����	�������	����	������������2

�	������������������������
�����	�������������	�����������

����������������������������������������������������������
..
H��������������������������-����������������	�����������������������������������	�������
���	��(������

������	�� ��
���	����� ��-������ -������� ���	���� �	�
��� ������	����� 	���� ����������� ������������ ��-	��� ���	���� ��� ��

���(�������	��#���	;������-	������������-������	���������
�����������	�������	������	��



(�
������	����������%�
��������� ����	�
��
����������� ��� .//

�������	������ 
������	�%�����

%	
����	

��
��	���������������������	�������������������	�?��������������
��

	����	���������������������������	

��
��	�����������������	������#������������
�������

��
�������������	(������������������
	��������
��(��-��������
�(����	���
���	������2

������������	����	�����������-���������
��������������(	�	�����	����	����������
	������

#���	��������	��(����	��������	��	�����	����	����	����������������������	�������������2

�������� ���� ���������� ����������� ������ -����� ���� ����	����� ������� ��� 
	������	�

�����������
��	���������������

�������������(���������������	�������������	���)
	�������������������������

���������������	������������	�����%�������������)
	�������
	������	����	��������-��

��������������	�������	�� �	
���
�	�������������������� ���	����	���
����������=��2

�����������	��	��������������(������� ����	�����������	����� ����?�	������������	����

(����� ���������� ��	��������� ��� (�� ��������� H�� ���� �	���� ���� 
��(����� ��� ?�	����

�	���������-������������	����
���	����	�����������������������	����������	������������

������	���	��������	��� �������� ������ ����������� ����	�������� ��	������������������	

���������
�	��<�������������
��-����������������	�������������
���������
������	�2

����(������
���	�����������H�������������	����-��������������������(��������������

-�	�� ������������ 	�� 	

��
��	��� ����������� 8���� �)	�
���� ������
���� (	���� �����	��

	��������	����
�����	������
���	��������9���������������������	����������	�����	(�����

�����������

H��� 	��-��� ��� ������ 
��(������	�� ���� ��� ���	���� �������	��<	����� 	����	�
��

������	����� ��� ����	������ #�� 	�������� ��� 	�����	����� ���	�����
�(���� ������� ����������

���	�����������	��<	�����	����	�
���������	������	��(�����������������	������������2

����� ����������� ��� ����	����	�� ������������� 	��� ���� ��	������� ��� �	
�� ���� ����	����

�����������������������#��
	������	���-�������(�����-����	�����������	��	��������	�2

���
�
����	����������	����������������-	������?�����������	����������)�������������2

��	��<����	�	�������	������	����8����������
���	������	���9��������	������	��
������

���	������������������������<�������������������������������	���������������������������	�

����	����	���������������	������������������(������?�	��������������	�����������	�����	��

��������������������������	���������������������������������	(����	�
����

$�������-������� ���	���� �������	��<	����� 	����	�
��� ������	����� ��
����� (���

�����������	���?�	�������������	����B����)	�
�������
	�����������������8	���	�������

����	�����?�	����9�	������
�(����	���
���	�����������-����������������� ����������	��

��������������������������
�������������	�
��������	�����	�����(��-����
���	���������2

����	���������������-�������(�������������������������
�����	����� ���
���	������������


��������	��������
����(�������������(������
������	�����#�����������-�������	����	(�����

��������
��������������������������	������
���	����������� ���������-����������
��2

�	��������������
�������(���������������	���������?�	���%���������	�����-�������������

��� �	�
��� ����������� ������ ��������� ������� (��-���� ���������� ������� ��
��� ��� 	� ���2

�	������	������(	����������������(���������	�	���������������
���	�����	�������	����



./3�� ��������	�
��
������	���

(���	
�������	����	��	�������
���	�������B�����	-����
��������
���	������������������	�

��� �������� ���� �	�
��� ����������-���� ���
	����� ���������� ��������� 	������ ������

��
���

����������	��	����
������������������	�
�������������������	��F�����<�	���G��
2

�����8.55/9�8����$�	��	����+����

������ ����(�	��$	�<	��	��	��������������	����2


�(���9� 	��� "������� 8.5539� 8���� ���	�� +�	����� ��	��� ��� #���	9�� ����� ��	�� 
���	��

�������� ����� ��� �������� ������� 	�	������ ?�	����� 	�� ���
	�	(��� ��� ���� ��-��� ������

�����	�����F	�����"�����	�������	���8.5539��������	�����
���	��������������#�������	�


���	�������������
�����������������������������������	����������-������������������

	��� 
�(������ ��� 
���	����� �	�	����.0� ��������	����� 
���	��� �	�	������� 	�������

�������	�	������?�	�����	�����
	�	(���������

��-������ ���������������	���(������(E���� ��������������������B����)	�
����	�


�����������(�� ���������8.5539��
���	���	���
�(�������������	������(������������

	������
	�	(����	����������$����	�
������
���	���	���
�(�������������	���
���	��<�

������������� ��������	� 8	�	������ ������� ��
��	��������� ������� ���	����	�� ����	����9�

������	�������� ������ �	�� (�� ��
���	��� ���	����	�� ������������ 8���	�� �������� �	�� (�

����������	�
�����������(	����(��	���������-�
�
��	������������L�	����
��
������	����

�	����
�(�������������	�����������	��	����������
������	��������������	��
�(�����������

	��� ����� ���������� ��� ������ ��� (���� ?�	����� 	��� ����������9��%��������� 	�� ��	��� ���

������ �����	������ ���� �����	�� ��	���� ��� ���� ��������� 	(���� ��	�� 
���	��� �������� 	��

�����������������	��������
�(������������������
	���@�!	�����8.5569���������	�����
��2

�	��������������$	����=	�����	������#���	��������
���	�����������-����������	�������2

���������� -����	�� ����������2	����� �������� -���� ���� ����� ����2����������� B����

�������������������-�����������������	����	���

 ��	�����������	����������	���������������
	������	��������&�
������� ����������2

����������������������������-������������������(�������������������H�����	�����������

�����������������������������������	��(����	����	��	���������
���	�������������
��	���

�	��� ���	���� �������� ��� ������2������ ���������� ����� 	�� ���������� 	��� �����<	����� ��

��	������ 	��� ������ ���������� ������� ��� ��)�(��
��� 	�	
�	����� ��� ������������ 	��� ��2


���������� ��� �����������	�� 
�	������ ��	�� ���������� �������� ��������� 8F�����<� 	��

G��
�����.55/9����������
����-���������	�����	����	��	���������
���	�����������	��

�����	����� 	������	(��� ��� ��������;� 
	������� ����� �	��� ������ ���������� ��� �)������

�����������������������2���������������� ���	��	����� ��	�� ������
	��(���-����
	�����;

����������

��������� �����

���� ����������� �����	����(������ ��������� #�� 	� �����-���� ���

��
����	�� �����	����� ��� ����� �������������� ��� �	������ ���������� ��
���� 8���������

��	�������
���9��+���������	���B������8.5569������	��������������
�(�����������	����	2

��������������������
�������(��(�	������-	�����	����2���	������
���������������
��	2

����������������������������������������������������������
.0
$�������������	���������-��������
������	���������������������������������������	
��������	��������B����)2

	�
���� ���������(�������	�����	�����������	�������������	����	����	����	����
��
���������� ���� ���	�� ������ ������	��	�2

�	������������������	��	������
��	�����	�
������	
	��������	���	���������	
	(�����	������	�����	��	������



(�
������	����������%�
��������� ����	�
��
����������� ��� ./6

�����	����
����8�����	����)�(��
�9��$����	�������	������
���	�����������������	����	2

������������������ �������������������-��������������	
���� ��	��������	��������� �	���

-������ ��� ��	����� -���	���� ���� ������� ��������� �	
���� 	��� ��� ����� -	�D

�����������������	������������������	
����	��������<	�����������	�����	����	����������

-�����(��
�������������������	���
	�������	������(��-����	-	�����������
���	����)

�����
�����������
��	�����	��
�������	������	����	�����
��	����	����������	��<���-���

�������������������������	��<�������������	
�������	���������������
����

$����� 	��� 	� ���(��� ��� �	��� �������� ��� ��

���� ��� ���� ���-� ��	�� ���� ���������

���������� ��� 
�(���� �������� ��� ��	��?�	����� ��	���� ��-	��� ��
������� �������� ���2

�������B��� �)	�
���� 	� � ������� ��� ./� ����	���� ��� ����� ���������� ������	�� +�	����� (�

���<��	���&	<�	��8.5569�����	������	�����	(�������������(����������	�����
�(���


���	������������������������-������	������-����
�������������-�������	�������	�2

��������� ��	���	����� �����(���� �������������
���
��������<��	���&	<�	�� ��� ��������

��	����������-�����������	����*�����2�������,����������#��������������
	������	������	�

����������-����-���� 	-	��� ���-��
2����
���� 	����� ��	������ 	���
��������� ����� (�2

�	��������(�����������������	����	��
��(�����-���������������#�������	�������
�������

�	��� ��	�� ��	������ ��� ���2
������ 
���	��� �������� -���� ��
��	���� 
������ 
	��� 	��� ����

?�	����������	��������
�(�������������	������������	

�	�������(������������������������

(��	����������	������������
������	��J�8=��
��������������-�����	�����������	�
���	��

���	����	���-����
������������(��-���2����9

�����	����� ���	��-	��� ��� 	��� 8.5569� �)	����� ������������ ��� �	�	������� ��

��	������ 	������ ���������� ��
��� ��� ��������� #�� 
	������	��� ����� �)	����� 
�(����� ���2

�������2	�����8-�����	�����������(��-����07����17�
����������	�����������	��
���	��

	���������	���������9��	���
���	��2��	������������� ����������������������$	����=	��

��	������#���	��#��������	������	�	����������	�����������	�������������-����	�?�	�������

���������
�(�������������%�������������������-����������	�	����������	���������
���	��2

	�������������	���
	���(��������	��������
���	����	�	�������������������������	������

�
�����������������	�������������������(����
������8�����	�����(�����	����������	�����

�����������	����	
��	��� ����	�9��#��
�����
����
���	��2	��������������	���������	�����

������� ��� (�� ������������� +���	��2	����� �������� �	�� 	���� ����� �	�	������ 	��� ��
�	��

	(�������	������?���
����#�������	����
�(������������	�������������������	��������	��

��� ������������������$��� �������� ��	������������-����	����	����
������	������
���	��2

	����� �������� 
������� (������ ��� ������ ��� 	���	��� 
������	���� ��� ��	��-���� ����

������� ��� ����������� -���� ���� ��
�������� ��	�� �������	��<���� �	�	������� 
�	������

-������
�(�������������	����	�����(�������������������������

���������� ���� ���������� ����������� 
	������	���� ��� 
�(���� �������� 	��� �����

��	����������(��������������
���������� ����������������������	���
	�������	��-���

��	������	����
	������������������������������������������������	��<	�����	������	���

�	�
���������	����������?���������-������������	�������
	�	��	���B�������������	��<	2

����� ��� ���	���� 	����	�
��� ������	������	��-���� ��	�� ��� ���-���� ���?������� ������

�����	������(�����-������������������������	��	��������	����
�
����	�����������
����



./:�� ��������	�
��
������	���

������-����
��-���	��������������������������������������	����	�
�����������������	��2

<	���������	�	��������	�����
���������*�����	�������
��(����,�����������������	
	2

(��� ��� ���������� ������  ��	���� ���	�� �	
	(��������� ���������� ������ ��� ���	�

	��������	�����	�����	��	�������-����(��	�� ��
���	������������ �	����� ��� �����������

��� �������	��<	������ #�� ������ (�� 	������ ��	�� -����� ���	�� �	
	(�������� 	�� ����������

�������� 	��� ��	����� 	

��
��	��� ���������� �������� ���� ��	������ ������ (�� �����������

B����)	�
���� ��	����������	����� ��� ���?�������	������� ���(��	�������	�� �	����� �����2

����������������������������L���������� ���������������������	��	�
���������� ��	�����;

�	�	����� (�� 	�����	���� -���� �������� 
������	����� #�� 
�	������� ��������	������ ����

��������	����	�����������������"������ 8.55/9� �������	���� ����
�����-���� ���������� ��

"���	;��
���������E�������
���	������������������(	���������������	�����������	��	2

����	���)	�����������������������	�������������	������
�������������������������*(��

���� �����������	��� �����	���-,@��	������������������� �������� ��� ����
�	���������	�2

��-�������������(�����������������	
�������)	��-�������������������������
�	���������2

�������	����%���������������	���-�����������������������	��	����������	������	����

	�����	
	��������)	��?���������.1

$������	��	���	���������	����������������	���������	��<	�����	����	�
��������2

�	����������������	������������	�����������	

��
��	�������������������������������	�

��-	���� #�� �	���� �����	���� 	�������� 	��� ��(�	����� ������ ��� ����� ����������-�����

�������	��	��������(��
�
����������(��
������	
������������	�����������������	�
������

����	��
��(����������������	������������

��	���
��	

$���
	�����-����	�����	�������������
���	���	�����-������	����(���������	�

�����������$��������	���� ���������� �	��� ���
������� ����� ���� ������� ��� ���� ���2

��	���������
�������������������������
�������	�����
��	���	��	�������������	��<��

�����������������	��	������������	��������=��-�����	��������������������	���	��������

��	���	��	�������������������������	������������������)�����������������	�������	�

��	������	����� 	�������� (�� ������ ���������� ���	���� ��
��������� ��-������ ���� 	��

���� ����� �	��� 	�������� ���� �	��� ������� ��� �������� 	�� ������ ���	���� ����������

!	���	������%�	��	���=�
	��� 	���A����=	��� ���� �)	�
���� 	��� 	����� ����-����;�


��������	������

$���?�����������-���������������������	���������	������������������������	���	��	

(��������(���
���� 	� (������� ������	���� ��� ���� ������� ��������� ���-������ �������	�

�����������$���	��-�������� ��� �����������������)����� ���-���������������� ������	�

����������������������������������������������������������
.1
$���-����
��	�����	���������	���
�(�����)	���	���������#���	�����"�������8.5539������������������	�����

������������������������������
	���������
�(����	���
���	������������#����	��������	��������������	������������(�

	�	
�������	��	���<�����������������	���	��� �����	��������(��"������	����	(��� 8.5579�	������������(�� ��������	2

����	��$����������������+����������=�-�F������



(�
������	����������%�
��������� ����	�
��
����������� ��� ./5

�����������	��	���������-����	�����������������������������-��������������������
��

������	������	�������=#������������
�������������	������������������	������������

��-����������=#���������� ������� ������	������������ ����	���	��� ������ �
���	���	�

���-����	�������������������	���-��������������������	���	��(����(E�������

���	
���������	
���� ��	��������-�����	������(�����	�����	����	����	���-���� ���

�	�����
�����������������������
���	�����������=#�����	���������	�(������������
��
��2

��������������
��
����������
�
��	�������	�����-��
��������-	��������������	��������2

������ $��� =#��;� ��������� �������� ��� 	����(��	(��� ��� 
	��� ��� 	�� �����	��� ��� ���


��
����������-��
�����������
�
��	�����	���������������	��������������	��������	����2

�����������������	���������������-����	����8���	��������
�����!	�
�.55:9��$����

�	����������	���������������	��������@���������-�����	������������	�������	��������

���������������-���������������������������	�������-����%��������������������	������	

�	��(���������)
��������	�(������������-��
���2	���
�
��	������	���������	����(���2

��������������������	
����(������������	����������	����	�������������������������	�

��-������	�� �����	��� ��� ���� �	(��������� �������(�� �������	�
����?������� �������2

���������-���� #�� ������������� ������� ��� ������� ����
�������� 	������	���� 
�������

��	����������	���������������)�������-���������������������	������H����������
������2

������(����������������������	�����	���������	���������	������������������
������	�

�����������������	��������
�������	��(����������������������	���������
����������������

����	����	�����	������������������
��
���

$����
	
����	����������	��	�	��������������
�������
��(�����
	������	������
����

������	����H(��������	���������������
��������-��������(��	

��
��	�����������������2

�����(��	�������������������	������������������	������� ������������
������B��� ��-2

�����������������	�� 	�(���	��G	��+����A����=	���	���������������������	����2


�����������	���������	���?�	��������(	��������	������������(�������	���������.C�$�

�����)�������	��	������������	������	����	��	E���
��(������������������������(	�������2

��	���
����	����	�������	���������	���	������-����	����(���������

B�������������2�����������������	����������2
����������������������������2

�	������	������������-�����	������(�������
�����������	���������	���?�	��������������

����	������
	������	���� ��	�� ���	����� ��� ���� ����������� 	��� �������	�� ��������%��������

�����������-������������(����

���������(�����	������������	��������
���� ���	�� ����2

�������	���	
	(�����L�	������	�����	������������	����	���I���)
����������	��	�
������2

	��� ���&=+���� ���� ���	������� 	��	�����������	������	�� ���������� 	���-���� (���-

����������������-��2������������	��#���	�	���+	
���	��

B��� ����=#���� ������ �������� 	�� ��	���������� ������ ���������� �	�� �	���	���� ���

����� �����-�	�
���� ��� 	� 
�������� ��� ��	������
� ��� ����������� �����	����� 	��� ������2

�����	�� 	��	������ �	����� ��	�� ���	��� ����	������ ����� "�����  ���	� 	��� ����	
����

-�����
�����������2��������������������������	�������	����	�����	��
�����-������?����

����������������������������������������������������������
.C
%	��� ��� ������ ���������� 	��� 	���� ��	�	�����<��� (�� ����� ������� ��� �	����������� 	��� ���(������� #�� �����

������������	�������
��������������(	���	�����������	������(������-������	��������
	��������������������������	���

	���������	��
������������



.37�� ��������	�
��
������	���

�������
������	���� ������	����� ����	���������� 	���(	���� ����������� 	��� �����������	�

������
������$��	�������	��� ������	�����������������
��	�������� �����	�������	����� ��

�����	��� 	��� ��� �������� 	��� ����������� ��� 
	������	��� $���� -����� ���	��� ���� ����

�	
�������	�����������������������	��������	���������� �����������������(���	�������	(2

��������	�������������� ��� ������� ���	������� �����������	���� 	��������	����� ���)�(�����

	������	����������������������	�	������	�������	�����)���������

#���������	��	�	��������
���������	������������	����)
	����������������	���	2


	(������ 	��� 
��� ��� 	� ����������� ��	�������� ��� 	� ����� ��
������	���� 	��� 
���
�����

��������� ����������� $���������� ���� ����� -����� ����� ��� ������	���� 	�� ��� �����

�
������� ���� ������	��� ���	�� ��������� 
�������� 	��� ��
������� ������$�������� ���

�����	�������-����(���������������������-���������	��������(	��<	������-�������������


�������(�����������-	���� ��������
��������	�������	����������������
����������� ��

(	�������



(�
������	����������%�
��������� ����	�
��
����������� ��� .3.

������	��


������	������F��!����	������������	�������	(����.553��*$���������������������������	�� 	
 �2

�	�@�+	
���	�;�����	��G	(���%	�
���,��&�����-�

��������� ���
� ������.������� � �/:8052//9�

�������������H��� 	������"�������� .55C�� *�����	���� ��� �������������������� ��� ���������� ����� 	

=�-��	�
������$-����,��
��� ���� ���
� ���	��� �:C8/9@../6261�

���	��������
�����!	�
��.55:����������	�
��
�������
�������� �������"���@�H)�����������2

�����+����������������	��������
�����!	�
�

>>>��.556���
�����������/�(�����������(��

����� ��%	���	�

!	�	��������	���!��B�

�����.553��*$���������������I���B�������$����������+����	���	���#����� 	2

����	��	�������������
������������+���������������#���	��B�����0�"�����	�������� ���
� �

����.������� ��6:8C09@.:6255�

!	����������.556��*$��� ���������������������+�(����	���+���	����������@�"��-������&	
���=�-

����	����%�������������� 	��� 	���

���	����� ��� #���	�,� #��  ��  ���������� ����� +������1���

��� ������ ���� %��
��� ��� ��	�
������ (��������/� +��� 
�� ��� +�����2� H)����@�  �	������

+�����

!����	���F���.553��*%�	������� �������������������������������+�������� ���������
���� ��������@

�����������#���������%�����������,�� ���
� �������� ��������	����./8C9@1C/23C�

!����	���F���	�����������������.55C��*���#�����	����	��+���
�������������������� #����������� ��

����G	���'�	����� ���������������B	��2&��-�����	���	���������	������	�� ���������,������

��	�
��
������	����.0809@.2/7�

!����	����=���.553��*+�(�����
���������������������	��������������
���� ��������@�$��� %������

$���G�����D,�� ���
� �������� ��������	��� �./8C9@C762.5�

!�	���%���.55:��*B��	����������	��������������
�������	@��+	��������$�������	���+������#�
���	2

������,�+	
���
��
	���������������	��������
�����!	�
��%	���	�

 �	
�	��� ���� .55:�� *$������� #������� 	��� +�������� ��� ����	����� %	�	������� 	��� ����������� ��

���	�,�+	
���
��
	���������������	��������
�����!	�
��%	���	�

 ��	��������	������%���	���.553��*��	������������
����	�����������G�	���������+���	������� 	2

�����������������	�,�+	
���
��
	���������������	��������
�����!	�
��%	���	�

 ���������  ��� .553�� *����	����� 	��� ���� %	�
��@� ������ +	���� ��� ���� =����(��	�� ��������� 	��

 ������D,�)��
����	�
��
����0C8C9@/:523.7�

����	��
	�������.556��*���	�����������������
�����	���#�����	����	�� ��
������������������	�,

+	
���
��
	���������������	��������
�����!	�
��%	���	�

>>>��.5::�� *=��������� 	���G	(��� +������������ ��������������@��	����?�	����� 	��� B	���+� �2

�������� B�������� �����	���� ���� ���	�� #���	�,� "��� ��	���� ��� � ���
� �� ���� .������� �

67819@C732.C�

����	��
	�������	���������������.5:5��*$����������+����������	���$����������+����	������#���	�

#�������@������������������	������,�"�����	�������� ���
� ������.������� � �6.8C9@3:6250�

����	��
	������� 	���G���������� .5:5�� *+	��������(��%	���	��������B����� ��� #���	@� #��� +���������

	���#�
	���,�"���3�����
����*��������
�� ���
� � �16819@1712.C�

���<���F���	������&	<�	���.556��*���	��+�	����@�$���!���������#�����	�,���
�(�������

���	��-	����+������F	�����F��G	����	���F��+��$	���.556�� #��$�����	�'�	�����2'�	�����$�	������	�

������������#����	��D�+����������	�������
����+	
���.63:��������!	�
�

��������� ���� 	��� G�� ����
�	��� .55/�� *$����������	��  �	���� 	��� $���������� ���	�����,� #�

F��!����	��	���$��=��������	�	���������%�������������	�
��
����� ���
� ���A������ ###�

�������	�@������������������



.30�� ��������	�
��
������	���

B�

�����!���.556�����H
������ ������$����������+�����@�$���#�
	�������#�����	����	��"��-�����

�����������������2����	���� 	���+������������ ���G����������
��� ���������� ���
����+	
���

��������������%	���	���� �������+	�
�

B��������������	���%����������<-�����.553��*$������	�� �	����	������	�� 	
��	����������	��

#����������@�������������������&����������������,��
��� ���� ���
� ���	��� �:38C9@51.2

/1�

�	�����
������.55/��*#����
������������������	��������������������������
���� ���������,�)��
�

-���������� �������	���.7809@0062C3�

�	�	�������.556��*+������������&��-���	���$����������	��+�����������	������������������@��� �2

�����������#���	�,���
�(�������+������������	��������������������%	���	���� �������+	�
�

#�����	����	�� #��������� ���� %	�	������� ������
������ .553�� "��� )��
�� (�
������	������ ������

4���������G	��	������-��<���	���

F	������������"�����	����������	����.553��*B��	�����%	�	��������	��� ��������+�(����	���+���	��

�����������#�������	�,�� ���
� �������� ��������	��� �./8C9@1:625:�

F	����������$���.5:3��* �����%	�����������	����������+������	���� ��� ���	�,� 3�����
������	�
#

��
����� ���
� ��07@05521.7�

F�����<�� ���� 	��� %�� G��
������ .55/�� +�(���� 	��� +���	��� ������	��� ����	����� ��� ������
���

 ��������@��� ��
	�	������������������!	�
������������+	
����175���	������������� �

"�	��� ��� ���� .55:	�� "� ���
��!� ��	�
��
���� ���� ��
� �� !/� 5�
���� ��� 6������
� *���	������

.!���
����������������7���
�������
� ��������������"�@���-	���������

>>>��.55:(��*$���B���������%��	����@� #����
��������	������	��&��-���,� ��������������������

	�������������	���������
�������������� ���������
�(�������

"�	����������	������$���(��
���.5:5��*%	�����������������������$���������� �����@�%����
����

	�����������	��+	�����	������,�3�����
����7�
� !�+���
����..8.9@�.1.2/5�

>>>��.5::��+� ��� ���
� ����� ���������������������
�������	��"� ���
������ )��������.� ��


�  ��������+����&�8��
�����/�"���(�������*��������� ��������������"�@�&�-���+�(��������

 ��

"��������&���.553��*$���'�	�����	�����������������+���	���	���+�(��������	����@��� 	�����������

��(	��#���	�,��&�����-�

��������� ���
� ������.������� � �/:@/62:1�

"������� F�� !��� 	��� ��� �	(���� .557�� ��� ������ .��

�� ���� *��$��
��!/� "��� ����� ���� ��� 6�����


�&����
�����H)����@�H)����������������+���������$���������!	�
�

"�������%���.55/��*����	����������������@���	�����"��-�	��� ��	��������;��,�)��
��-���

������ �������	���.7809@0C62/C�

"����	���+���.55C��*$���%����������	;��%��	����,�8���������������=����(��O�����(��@�3026:�

G	���� ���� .55:�� *$�	��	��;�� %	���	��������  ��
�����������@� �� +�������	��� H������-�,

+	
��� 
��
	���� ���� ���� ���������� ���$�	��	��;�����	���� ������������������ 	��� ��2


�������������%	����=  ��!	��
�
�

G���� F���.553��$���������� #�
�����	����I���������� ���"���	��%	���	��������B����� � F����	�� ��

������
�����+	
���=���C1��������!	�
�

%���	�������.55/��*$������	����������(������2+�������������	�������������������	����@�����

G�����������������
���� ���������,�+	
���-������������������	��������
�����!	�
��%	���	�

%���	�������	���F��+��$	���.553��$���B��������	���������� �������	������ ���	�� 	
��	�����
���

+	
�����������!	�
�

%���
�� +�� ���� 	��� F�� G��� .5:3�� * ���������%	����������� 	��� ���������� ��� ���� $��	�� ������� ��

=�
	��,�3�����
������	�
��
����� ���
� ��07@112/0�



(�
������	����������%�
��������� ����	�
��
����������� ��� .31

%��
���� "��%��� ��� ���������� 	��� ��� A������� .55.�� *$��� �����	����� ��� $	����@� #�
���	������ ���

&��-���,�9������
!�3�����
����� ���
� ��.73809@/71217�

+���������� G��� .553���������	������ ���� ����	�����&���D� +������ ����	�������
���� +	
��� ./:.�

������!	�
�

+����������G��� 	������B������� .556����	������	����	�� +���������� B�����������	���� ���-�� +�����

����	�������
����+	
���.65/��������!	�
�

+�	��	��
�������&���.553��*+�(�����
���������������������	����� ���������
���� ��������@�$��

%�����	�������	��$���G������,�� ���
� �������� ��������	����./8C9@C0.200�

>>>�� .5::�� *����	����� 	��� ������
����@� �� �����-�,� )��
�� -���� ������ �

�����	���18.9@552..3�

������<��$������.56/��*$���A	������������(�����������	��-��������?����(��	�0�3�����
����� ���
� 

5����������.18.9@:062C3�

����-�� ���� .5/6�� *$������	��  �	���� 	��� ���� ������	��� +���������� B��������0� ��	���� ��� � �#

��
� ������.������� ��15@1.0207�

>>>��.5/3��*�� �����(������ ��� ����$������������������&��-���0�9������
!� 3�����
� ���� �#

��
� ��67@3/25C�

�
������%��� .563�� * ��
�������� ��� �	�	������  �������	���� 	��� ����	����� +����?�������� ���� F�(��,

9������
!�3�����
����� ���
� ��578.9@/.26C�

���	�����F���.5:3��*�����!������=����������	����B	���+�����������D,� 3�����
����7�
��� �
�� ���
!

5C809@0562107�

$	�������	���&��!	��	��.556��*$����������	���B������<�2�	�������������	������ ����(�	��%�)����

	���$	�-	��8 ���	9�,�)��
��-����� ���
� ���	��� �..8.9@/52:1�

$	���F��+���	������%���	���.550������	�����������	@��� ��
	�	�������������� ����	���B��	������

������!	�
�������	��	���������	����������������!	�
�

�=�� H��.55/������������&����	�

�=#�H���	��������	����*��������
�.������� ������������&����	�

�������=	������������
�����+����	�����.556��%�
�����	�
��
����������� �=�-�N��
@�H)����

�����������+�����

������!	�
�� .556��7��
�������/�+��������:
���
� *������������ ;�
�
�� <� =-� �������� 7�����> �

��	��� ���������	��

>>>�.551��"��������������+��� 
���H)����@�H)����������������+�����

>>>���	��������	����)��
����	�
��
����*��� ����� ���	������������� �


	Growth and Structural Change
	Reform and Policies at the Macro Level
	Reforms in the Financial Sector
	Economic Cycles and Stabilization Policies
	Economic Development and Human Welfare in the PRC:
	Who has Benefited from Growth and Reform?
	Conclusion
	JOSHI.pdf
	The Ancien Regime and the Need for Reform
	Macroeconomic Stabilization
	Financial Sector Reform
	Fiscal and Trade Policy Reform
	Industrial Policy Reform
	The Social Sectors: Poverty and Reform
	Prospects for Growth and Reform
	Increasing the Power of the States
	Conclusion
	Postscript
	Bibliography

	LEWIN.pdf
	Introduction
	Asian Educational Development in the International Context
	Educational Development Classification of DMCs
	Patterns of Growth in Participation in Education in Asia
	Table 2
	Population Growth, Dependency Ratios, and Urbanization
	Educational Financing
	Internal Efficiency and Quality
	Educational Development Prospects
	Policy Priorities in the DMCs
	Bibliography

	Hasan.pdf
	Introduction
	D

	Khan.pdf
	Introduction


